CQQ(, 3 = Q&S{QK\AM Z,K

Q

Eundnods <§ wix-xdy | C= witcndk

(o Qanty Heown & eunfiush
a) §i e*dx t er’% ( C /T X‘-"ﬂw'-la YQ‘]‘I

0) §Cx"o{‘ ot ey dy o C b (0, (1), (0

) gc('?!m’?)d"* a""‘”‘(‘f]) rl‘j( L C reagm
Lloson 4ext o X<y

‘) §cm[v‘mx+ xen(yldy | Cr [ ellipos
XL'( xvy 4 "t S /1

& S(AQMQA ™ pQWm [LJ il §°xd‘&~ 'ﬁdx

gives Qien R ancdsfed ﬂ% C ﬂ,} B,

GAPRAL “4 ol N{sy)ex owed uvy.f»vhf),

em‘b [LUH/V\« Slow M.’J«,u



w) §CX!1"; = ﬂ
‘“iry({%"ﬁ

Suppse D & wumien @, o=yl b ool
Su a sl el oo A €. Sl N
coovdivndio of (ke coubuoid (if«‘g) D me

Babxly i ek
ew!&mvt §¥m Jor.

e)q <l&’*‘g ,xHP) (C My et gesinfe]
R (00) & (5,0) aual M hins s v 3
fow. (7,0) % (00)

)i} '(e&*"‘bQ“’"‘a) C: ,Y{-(’ r

)V' <<& 0 (5494"), 2 archin (%) >C il
(1) (- 1A



@x-mp(x + Vdx +2(x + y)dy - C-curve-from-(-2,-2)t0-(4,-3)
&
@ )g Find the work done by the force field F =<9x?y? 6x°y 1> from P(0,0) to Q(5,9)

@ yEvaluate §2x}.-dv +(x+ v)dv where C bounds the region between y=0 and y=4—x2.
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@ » Evaluate §xsin( 35— 3H)dx + (2% cos(y?) +3x)dy where C is the boundary of the trapezoid
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with vertices (0, -2), (1, -1), (1, 1), and (0, 2).



